
 Hecto=0
Nt1=0, Nt2=0

NTDP=0,
CptSec=0

init Timer0 1sec
init interrupt RB0

incr Nt1
incr Nt2

Incr NTDP

Nt1=76

Nt2=761

incr Hecto
Nt1=0

traite IT RB0

incr NTDP

Nt2=0

bit0    Hecto=0

affichageTime / line1
Kms parcourus/ line21

ISpeed=3600/Dsec
Affichage :

Vitesse Inst.  / line1
Kms parcourus / line2

2

65535 TDP soit
 85kms maxi

6553.5 kms
 maxi

traite IT TMR0

incr  CptSec

Elabore HH:MM:SS

Dsec=
 CptSec-MemSec
MemSec=CptSec

Mspeed=
Hecto*3600/CptSec

Vitesse  moyenne.  / line1
Kms parcourus / line2

test Rb1
MENU

3

Lecture Index EEPROM+1
message Memorise
Stockage resultat

 -> EEPROM

RESET

Test RB2
=Fin

affichage  Date,duree
 Vmoyenne,Kms

Index relecture eeprom

test 
RB2 & RB1

Envoi contenu
EEPROM
sur RS232

test 
RB1

VELOPIC.CHT
29/12/2003

Oui

Non

Oui

Oui


